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QUESTION 1 
In the event rule management configuration, when does the port number specification (set in the 
smtpServerPort option) become effective? 
 

A. after JnextPlan 

B. on the next send mail action 

C. after the Event Processor is started 

D. after a WebSphere Application Server restart 

 
Answer: B 
 
 
QUESTION 2 
What is a supported method for installing an IBM Tivoli WorMoad Scheduler V8.6 master domain 
manager on UNIX or Linux? 
 

A. twsinst 

B. inst_twa.bin 

C. twainstall.bin 

D. launchpad.sh 

 
Answer: D 
 
 
QUESTION 3 
The fault-tolerant agent named alpha is stopping because of a full message file. How does an 
operator resolve this issue? 
 

A. use evtsize to increase the maximum size of the message file 

B. issue the command incevtsize alpha on the master domain manager 

C. stop and start the IBM Tivoli Workload Scheduler processes to reset the message files 

D. issue a JnextPian -for 000 command on the master or wait for the next production period 

 
Answer: A 
 
 
QUESTION 4 
A production plan is in place. Which plan type is a projection of what the production plan would be 
in a chosen time interval and is produced using both a start date and an end date? 
 

A. trial plan 

B. forecast plan 

C. projection plan 

D. post-production plan 

 
Answer: B 
 
 
QUESTION 5 
If a defined event rule is not sending an e-mail, which command helps identity if e-mail settings 
are defined correctly? 
 

A. optman Is 
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B. planman deploy 

C. more globalopts 

D. more TWS Config.properties 

 
Answer: A 
 
 
QUESTION 6 
Which user rights assignment is needed for an IBM Tivoli Workload Scheduler V8.6 user to run a 
job on the Windows operating system? 
 

A. log on as a service 

B. create a token object 

C. manage auditing and security log 

D. take ownership of files or other objects 

 
Answer: A 
 
 
QUESTION 7 
What is the purpose of an IBM Tivoli Workload Scheduler V8.6 safe mode upgrade? 
 

A. It ensures files installed by an upgrade can be rolled back to their previous version. 

B. It verifies all scheduling objects have a valid syntax in the new version before importing them. 

C. It ensures interruptions caused by the upgrade do not risk the integrity of running processes. 

D. It exits an upgrade if there are running jobs and lists out the jobs that are blocking the upgrade 

 
Answer: C 
 
 
QUESTION 8 
What is happening to a job in a HOLD state marked with a [P] in the Deps column in the output of 
the conman showjob command? 
 

A. The job is waiting for a prompt dependency to be released. 

B. The job cannot start because the maxi mum number of dependencies that can be set was 
exceeded. 

C. A predecessor for the job has not yet been included in the preproduction plan or in the production 
plan. 

D. A predecessor for the job exists in the preproduction plan but it has not yet been included in the 
production plan. 

 
Answer: D 
 
 
QUESTION 9 
This message displays when attempting to start composer: 
 
Incorrectly built binary which accesses errno or h_errno directly. 

Needs to be fixed, bin/composer: 

error while loading shared libraries: libstdc++-libc6.1-2.so.3: cannot 

open shared object file: No such file or directory 
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How can this issue be resolved? 
 

A. install the missing binaries 

B. remove the problematic binaries 

C. set up the PATH and 7WS_TISDIR variables 

D. create the correct directory for the user attempting to start composer  

 
Answer: C 
 
 
QUESTION 10 
When a defined job stream is not included in the plan as expected, which three job stream 
definition keywords should be checked to determine the cause? (Choose three.) 
 

A. DRAFT 

B. VALIDTO 

C. MATCHING 

D. PRIORITY 

E. CONFIRMED 

F. VALIDFROM 

 
Answer: ABF 
 
 
QUESTION 11 
An IBM Tivoli Workload Scheduler V8.6 agent's Jobtable file is growing throughout the day. What 
does this indicate? 
 

A. The file system is full. 

B. The batchman process has stopped. 

C. An increasing number of jobs are being managed. 

D. The master domain manager has become unlinked 

 
Answer: C 
 
 
QUESTION 12 
Given that the event rule generic action plug-in uses the run command action, where does the 
command run? 
 

A. on the master domain manager 

B. on the backup domain manager 

C. on the workstation where the event rule applies 

D. on the domain manager for the IBM Tivoli Workload Scheduler agent 

 
Answer: A 
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